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BUSINESS ECONOMICS

Paper : 401
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o 2R Tas fi

(a) What is business economics?

IR SRS 3 2

(b) Define demand.

wifRE iz fitay |
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(2)

(c) What is marginal cost of production?

Tees i 98 67

(d) Define GDP at factor cost.

o[ 9 (GDP) o X241 Teomd siee! i |

(e) What do you mean by dumping?

wifderg gferce & o 2

() What do you mean by marginal physical
productivity of a factor?

451 o 2 e el g ol R
@

(g) What is shut-down point of a firm?

e AfSa BeeE I 9 o R e

(h) What is selling cost?

& 7w T2
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(3)
(i) Draw a total fixed cost curve.
GO 5 & I T 4 |
(i What is demand forecasting?
RIEGE RIS LR
2. Answer in brief (within 30 words each) : 2x5=10

HF Taq fr (afSehr 3051 R fSesw) ¢

(a) What is production possibility curve?

T B & WA 2

(b) State the determinants of demand.

oI FEEeR Tewy 9 |

{c) What is excess capacity of a firm?

T Af SR wfeRe wve [F 2

(d) What is production function?

TeAm o 2
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(e)

(4)

Give two differences between normal
profit and supernormal profit.

TORS AF F SFORE TR AW
1<l WIS &1 |

3. Answer any four of the following : 5x4=20
wog i T vifer T i
(a) Discuss the scope of business
economics.
[ SNG4 A 40 |

(b)

(c)

Al16/575

Analyze the basic problems of an
economy.

RIS (e FeIPRR Reme 341 |

Discuss the main features of

monopolistic competition.

GFIRFR AT TR g PR
SCEATS 344 |

{ Continued )

(5)

(d) Explain the cost-output relation in short
run.

TS IF-AMAR T L 341 |

fe) Analyze the different profit policies
followed by public enterprises.

511 2ifSRiea erze 31 RS g Mo Rezme
3T |

. What is elasticity of demand? Discuss

different methods of measurement of
elasticity of demand.

e fefewstee o s e @R
GO TG 4 |

Or / 9391

What do you mean by national income? How

is it computed? 3+7=

TS S e R qom 2 @ @i Pty =

2+8=10

10

5. Explain the laws of returns to scale. 10
AR ey RfRem mam w4 |
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(6 ) : (7))

Or / ==[_1 Or / &%_1

Discuss the modern approach of cost. 10 Profit is the reward for taking risk and

i inty. Explain.
IR W{ﬁ?‘ YI9NCH] SIS 47 | bearing uncertainty P

T 2 S SIS I I | G A

10

6. What is perfect competition? Discuss price
and output determination process under
different market periods in perfectly
competitive market. 2+8=10 * K X

ol efecferEe T@m & 7 off afdcafremers qes
RS wemeerre - A FaRer afe s
1 |

Or / =41

What are the characteristics of oligopoly?
Determine price and output under oligopoly
with the help of kinked demand curve model.

4+46=10

T Ruror e PRz & o @ sk
@2 WIS RS T RigoR TqEe W-ue
e 47 | '

7. Explain the dynamic theory of profit. 10
YA SRR SGT A 49 |
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